Profit and Loss
Ex 10A

IMPORTANT FACTS

Cost Price:

The price, at which an article is purchased, is called its cost price, abbreviated as C.P.
Selling Price:

The price, at which an article is sold, is called its selling prices, abbreviated as S.P.
Profit or Gain:

If S.P. is greater than C.P.. the seller is said to have a profit or gain.

Loss:

If S.P is less than C.P, the seller is said to have incurred a loss.

IMPORTANT FORMULAE
1. Gain = (SP) - (C.P)
2. Loss = (C.P) - (S.P)
3. Lossor gain is always reckoned on C.R.

4. Gain Percentage: (Gain %)

Gain % Gain x 100
e CP

5. Loss Percentage: (Loss %)
Loss % = Loss x 100
- C.P.

6. Selling Price: (S.P)

(100 + Gain %)
SP= |5 XGP

7. Selling Price: (S.P)

(100 - LosS %)
B & 1%

8. Cost Price: (C.P)

CR-J ey . o
T 00 + Gain %) T

9. Cost Price: (C.P)

cp=| 1Y qp
Tl (1o0-Less %) T

10. If an article is sold at a gain of say 35%, then S.P. =135% of C.R.
11. If an article is sold at a loss of say, 35% then S.P. =65% of C.R.

12. When a person sells two similar items, one at a gain of say x%, and the other at a loss of x%, then the seller
always incurs a loss given by:

Common Loss and Gain %2 x 2
Loss % = 10 = ﬁ .

13. I a trader professes to sell his goods at cost price, but uses false weights, then
Error

ime = | —_— = - 'y
Gain % |:(True value) - (Error) X 100:| ’

QL



Answer :

(¥

CP = Rs. 620

SP =Rs. 713

Since SP > CP, there is a gain.
Gain = 713 — 620 = Rs. 93

Gain percentage = (%: % 100)%
= (& x 100)%
= 15%

(i)

CP =Rs 675

SP = Rs 630

Since SP <= CP, there is a loss.
Loss = 675 — 630 = Rs. 45

Loss percentage = ([g x 1(]0)%
= (% x 100)%
2
=65%
(iii)
CP = Rs. 345
SP = Rs. 372.60

Since SP > CP, there is a gain.
Gain = 372.60 — 345 = Rs. 27.6

Gain percentage — (%‘:‘ x lDﬂ)%

- (% x 100)%

2760
= (38)%
= 8%
(iv)
CP = Rs 80
SP = Rs 76.80

Since SP < CP, there is a loss.
Loss =80 — 76.80 = Rs. 3.2

Loss percentage — (%‘; X lﬂﬂ)%

(iii)
CP =Rs. 875
Loss percentage = 12%
sp— (k=% cp
=) S ers
_ 700

100
= Rs. 770

()

CP = Rs. 645
I.osspercenta.ge:l:]%%=%%

(100 loss %)
S8P=-"—0—

_ (=)

x CP




Q3.

Answer :

()
5P = Rs. 1596

Gain percentage = 12%
CP=__" _,sp
(1004 gain %)

_ _ o

(100+12)

= Rs. 1425

1596

(ii)

SP = Rs. 2431
Loss percenta.ge:ﬁ-;%=l—:%
= 1 »gp
(100 1oss %)

=10 _ 9431

(0-5)

_ 100x2
T * 2431

= Rs. 2600

{iii)
SP = Rs. 657.60
Loss percentage = 4%

=10 __ ,gp
(100—loss %)

= {1;00"4} % 657. 60

= Rs. 685

(iv}
SP =Rs. 34.40
Gajnpementage=?—;%=l—;%

cP=_—_ _.gp
(100 gain %)

=10 _ x34.40
(mm;)
= 100x2  34.40

25
=Rs. 32

Q4.

Answer:

CP of the iron safe — Rs. 5580
Transportation = Rs. 170
Total CP = Rs (5530+ 170) LB, 5750

SP = Rs. 6440

Since SP > CP, Manjit makes a profit.
Gain = 6440 — 5750

= Rs 600

Gain percentage = (mﬁmcp % 100)%
e

= (ﬁ] x 100)%

=12%

Q5.




Answer :

CP of the car = Rs. 73500

Repairs = Rs. 10300

Insurance = Rs. 2600

Total CP = 73500 + 10300 + 2600 = Rs. 86400
SP = Rs. 84240

Since SP < CP, Robin has a loss.

Loss = 86400 — 84240

= Rs. 2160

Loss percentage — (mmmcp X 100)%
= (22 x 100)%

=21%

Qé.

Answer :

The price of rice is Rs 18 per kg.
According to the question, we have :

Cost for 20 kg of rice = 20 x 18 = Rs. 360
Cost for 25 kg of rice = 25 x 16 = Rs. 400
Total CP = 360 + 400 = Rs. 760

Also, total quantity of rice = 20 4 25 = 45 kg
SP =45 x 19 = Rs. 855

Since SP = CP, there is a gain.

Now, gain = 855 — 760 = Rs. 95

Gain percentage = (m?n[:p % 100)%
= (7% x 100)%
=123 %

Q7.

Answer :

Let 5 kg of coffee he mixed with 2 kg of chicory.
CP of the mixture = Rs (25Dx5+75x2)

=Rs (1250+ 150)

= Rs. 1400

SP of the mixture —Rs (? x 230) — Rs. 1610
Since SP > CP, there is a gain.

Now, gain = Rs (1610 s 1400)

= Rs. 210

Gain percentage = ( g2, 100)%

total CP
20

- (m x 100)%
=15%

Q8.

Answer :

Let Rs = be the SP of each bottle and Rs y be the CP of each bottle.
SP of 16 bottless = CP of 17 bottles
= 16x = 1Ty

17
>3 %

Qain per bottle = SP — CP
)

- Cain percentage — (% x 100)%
x 100)%

X 1) x 100}%



Answer :

Let Rs x be the CP of one candle and Rs. y be the SP of one candle.
Now, CP of 12 candles = SP of 15 candles

=12z = 15y
y_1
z 15

Loss — CP — SP
)
~. Loss percentage — (%’f‘ x 100)%
—{(52) = 100}%
{(1-2) x 100}%
={(1- %) x100}%
(

Q10.

Answer :

Let Rs z be the SP of one cassette.
SP of 5 cassettes = Rs. 5z

SP of 125 cassettes = Rs. 125z
Gain = Rs. 5x, when SP = Rs. 125z
But gain = SP — CP

= CP = SP — gain

= 1256z — bz

= Rs. 120z

-. G ain percentage = (% x 100)%
= (3% x 100)%
=4¢%

Q11

Answer :

Let Rs = be the SP of one lemon.
SP of 45 lemons = Rs. 45z
Loss = SP of 3 lemons = Rs. 3z
But loss = CP — SP

CP = loss + SP

=3z + 45z

= Rs. 48z

*. Loss percentage = (1%‘ % IDO)%

= (& x 100)%

=61%

Q12.



Answer:

CP of 6 oranges = Rs. 10

CP uflora.nge=%'=Rs. ‘—;

SP of 4 oranges = Rs. 9

SP of 1 orange = Rs. %

Since SP > CP, there is a gain.
Now, gain = SP — CP

—3_5
= 3

1
— T
=Rs. 5

. Gain percentage = (% 'Y IIJD) %

= (3 xlm)%
3

= (1—72 x % x IOD)%
= (% x 20)%
= 35%

Q13.

Answer :

SP of 10 bananas = Rs. 18

SP of 1 banana = 15 =Rs. 2
CP of 12 bananas = Rs. 16

CP of 1 banana =Rs 1 =Rs. 3
Since SP = CP, there is a gain.
Now, gain = SP — CP

=9_1

5 3
= x
=Rs. &

-. Gain percentage = (

N
—(ﬁqulﬂﬂ)%

=35%

ulAI;l-q

X 100) %o

Q14.

Answer:

CP of 10 apples = Rs. 25

SP of 12 apples = Hs. 25
SP of 10 apples = Rs % % 10 = Rs. %
Since SP < CP, there is a loss:

Now, loss = CP — SP
=Rs 25— 1B

=Rs. 7

.. Loss percentage = (%’f x llJI]) %
z

= (% x 100)%

=16.67%

Q15.



Answer :

Let = be number of eggs he purchased.
CP of 3eggs =Rs. &5

CP of xeggs = Rs. %z

SP of 5 eggs = 12

SP of x eggs =1?2:

. Gain =5P - CP

Now, % T =143

— . 1
=;-:|:—143TE

=x=143x I =x=105

Q1é.

Answer :

SP of the camera = Rs. 1080
Let Rs x be the CP.
Caim=Rs. jz ...(i)
Also, gain = SP — CP

—Rs. (1030 —s:) ()
From {1) and (].l), we have :
3z =1080 —x
= ¢ = 8640 — 8z
= 9z = 8640
= x = 960
.. CP =Rs. 960
Now, gain =%x
— 560

8
=Rs. 120

-. Gain percentage = % xlm)%
=127 %

Q17.

Answer :

SP of the pen = Rs. 54

Let Rs = be the CP of the pen.

Loss = Rs.

SP = CP — Loss
=3_%
_ 9z
=Rs.

Now, we h.ave% =54

=;-:|:=.’:'u;lx%I

= x =60
. CP of the pen = Rs. 60
Now, loss = 5
— &
10
=Rs. 6

*. Loss percentage — (l%f X ID(])%
~ (& x100)%
=10%

Q1s.



Answer :

Let Rs z be the CP of the table.
Case I:

Loss percentage = 10%

= Loss % = (%‘3 x 100)%

=10= == 100

10
Suppose that SP, is the selling price when he incurs a loss of 10%.
Loss =Rs ¢
= CP-5P,=
=8P, =z 5
9z

=Rs o
Case 1T :
Cain percentage = 10%
= Cam% = (%55 x 100)%

gain

z
10

=:-1I]=Tx100
Gain __ 1
=z 1w

= Gain =Rs
Suppose that SP; is the selling price when he makes gain of 10%.
Q19.

Answer :

Let Rs z bethe CP.
Gain; percentage = (

o % 100)%
=15= 22 x 100

in, — liz
= Gain; = Rs 00

Apain, gain, percentage = (% % 100)%
=8=22 » 100

= Gain, =Rs %
According to the question, we have:
Gain, — gain, = 56
15x Bx
10 & m-SE—

=
= 05 = 56
= Tz = 5600
=z = 800
Hence, the CP of the chair is Rs 800.

=

Q20.



Answer :

Let the cost price of the cycle be Rs x.

100

SP of the cycle at 10% gain— Rs {m

:l‘\'.}s{%:| )(I}
)

_ 11z
=Rs. 37

SP of the cycle at 14% gain= Rs {_m:]g'ul‘i % z}

— Rs {114:}
100
— 5Tz
=R {5}
5Tz 1lx
~80 T w0 =65

57z Gaz )
=

5Tz—5hr _
=0

2x _
#E—ﬁf)
= 2z = 3250
=z = 1625

Therefore, the cost price of the cycle is Rs 1625.
Q21

Answer :

CP of the first variety of wheat = Rs 40 x 6.25 = Rs. 250

CP of second variety of wheat = Rs 30 x 7 = Rs. 210
Total CP = Rs (250 + 210)
=Rs 460

Total amount of wheat = (40 + 30) kg
=70 kg
Now, gain percentage — %’: x 100
(gpin%}xcl’
100
= 4bllxs
= Gain = =
=Rs 23
. SP = CP + gain
= 460 + 23
= Rs 483

= Gain

- Rate per kg =Rs =¥ = Rs 6.9

Q22.

Answer :

CP of the first bat = Rs 560

Gain percentage = 15%

SP of the first bat = Rs { 1 =2% x cP}
_ 100 + 15

—Rs {T x 560}

_ 15

—Rs {lm x 560}

— Rs 644

CP of the second bat = Rs 240

Loss percentage = 5%

SP of the second bat = Rs {12=% x CP}
1005

= Rs {155 x 240}
95

= Rs {35 x 210}

=Rs 228

Total CP of the two bats = Rs (960 + 240) = Rs 800
Total SP of the two bats = Rs (644 + 228) = Rs 872

xCP}



Since SP =CP, there is gain in the whole transaction.
Now, gain = Rs (872 - 800) = Rs 72
=:. Gain percentage = {mimcp x 100}%

- {% x 100}%

=9%

Wasim gains 8% on the whole transaction.

Q23.

Answer :

CP of one jeans = Rs 725

Gain percentage = &%

SP of one jeans — Rs {w xCP}

100
—Rs {"’“” x725}

100
=Rs {{5 x 725}
= Rs 783

CP of the other jeans = Rs 725
Loss percentage = 4%

SP of the other jeans — {w";—ol‘;“% % CP}
{
1

Rs

1IIJ|£4 x 725}

I8 =

x 725}
06

g,S

Total CP of the two pairs of jeans = Rs (725 x 2) = Rs 1450
Total SP of the two pairs of jeans = Rs (696 + 783) = Rs1479
Since SP =CP, there is a gain in the whole transaction.

Now, gain = Rs (1479 - 1450) = Rs 29
. : _ gain
. Gain percentage = {mmcp X 100}%

_J»

= { & xa00}%

=2%

Hence, Hema gains 2% on the whole transaction.

Q24.

CP of 1 kg of sugar = Rs 25
C.P of 200 kg sugar= Rs (200 x 25)=Rs 5000
CP of 80 kg of sugar=Rs (25 x 80) = Rs 2000

CP of 40 kg of sugar = Rs (25 x 40) = Rs 1000

SP of 80 kg of sugar — ——=2% . op

=Rs 100 x 2000

= Rs 2200

SP of 40 kg sugar = k=% » Cp
06

=Rs 5 x 1000

= Rs 960

SP of 200 kg sugar = “'E2% . Cp
108

=Rs 15 x 5000

= Rs 5400

Remaining quantity of sugar = (200 - 80 + 40) kg = 80 kg

SP of the remaining sugar (80 kg) = Rs (5400 - 2200 - 960)
= Rs 2240

Q25.



Answer :

Let Rs x be the CP.
Then, SP =Rs 2

Since SP = CP, there is a gain.

Now, gain = SP — CP

— T

1
3T

= z

= Rs 3

.. Gain percentage = (%ﬁ" % 100)%

(%)
=33.33%

Q26.

Answer :

Let CP be Rs .
Then, SP = Rs &
Since CP=SP there is a loss.

Loss =CP —SP

=T —

=Rs

al

.. Loss percentage —
= ( * lﬂﬂ)%

=20%
Thus, there is a loss of 20%.

— ;i

loss
o 100)%

NEIL]

Q27.

Answer :

SP of the umbréella = Rs 115.20
Loss = 10%

CP of the umbrella = 1% x SP

_ 100
=Rs g X 115.20

=Rs 40 x 115.20
=Rs 128

MNow, CP = Rs 128 and desired gain € 5%

~. Desired SP = E2% , op
_ 105
=Rs oo X 128

=Rs 134.4

Hence, the desired selling price is Rs 134.4

Q28.



Answer :

SP of the bougquet = Rs 322

Gain percentage = 15%

CP of the umbrella — (1m+ %) % SP

—Rs (mm) x 322

=Rs 10 x322

= Rs 280
Now, CP =Rs 128 and desired gain percentage = 25%

) DMSP:(“J*—M) % CP
— 125

=Rs ﬁxﬂﬁﬂ

= Rs 350

Hence, the selling price to obtain the desired gain must be Rs 350.
Q29.

Answer :

Let the original price be z.

SP=Rs 3120

Now, SP = CP - loss

=2312W0W=z— —

=3120=z— %

= 3120 = E

312028 __
= 24 =r

= T = 3250

So, the cost price is Rs 3250.

If it is sold for Rs 3445, then its a gain because SP = CR
Now, gain = SP - CP

= Rs (3445 - 3250)

=Rs 195

.. Gain percentage — (E - 100)%
_ (198
= (3% x100)%
= 6%
Q30.
Answer :
SP of one saree = Rs 2185

Gain percentage = 15%

CP of one saree = {

= R s x 2185}

= Rs{ ]} x 2185}
— Rs 1900

x SP}

1EIl+g,mn %

SP of the other saree = Rs 2185
Loss percentage = 5%

CP of the other aree = {

={w
L

- xsp}

x 2135}

135}

2300

Total SP of the two sarees = Rs (2185 x 2)= Rs 4370
Total CP of the two sarees = Rs (1900 + 2300) = Rs 4200
Since SP =CF, there is a gain in the whole transaction.



Now, gain = Rs (4370 — 4200) = Rs 170

Eain
T x 100}%

. Gain percentage = {
Sy 100}%
e

:4%%

Hence, Luxmi gains 4 5= % in the whole transaction.
Q31

Answer :

SP of one fan = Rs 990
Gain percentage = 10%

CP of one fan = {ﬁ xSP}

_f 10

= {1m+1u x 9'90}
- {}T"g x 990}

= Rs. 900

SP of the other fan =Rs 900
Loss percentage = 10%

Its CP = { ', x SP}
= { s x 990}

- nggo}

= Rs 1100

Total CP of the two fans = Rs (900 + 1100) = Rs 2000
Total SP of the two fans = Rs (990 + 990) = Rs 1980

Since CP »3SP, there is a loss in the whole transaction.
Now, loss = Rs (2000 - 1980) = Rs 20

.. Loss percentage = {M#ﬁ * 100}%

_J 2

= {&; x 100}%

=1%
Hencegthe shopkeeper incurs a loss of 1% in the whole transaction

Q32.

Answer :

CP of sugar = Rs 4500
Profit on one-third of the sugar =" 10%

CP of one-third of the sugar = Rs 23 = Rs. 1500

SP of one — third of the sugar =%$H%XCP
110

=Rs 2 x 1500

= Rs 1650

Now, profit= Rs (1650 - 1500) = Rs 150

At a profit of 12%, we have:

SP of sugar = =% . cp

=Rs 12 x 4500
= Rs 5040

~ Gain= Rs (5040 - 4500) = Rs 5400

Profit on the remaining amount of sugar = Rs (340 - 150) = Rs 390
CP of the remaining sugar = Rs (4500 - 1500) = Rs 3000



Gain percentage = (% x 100)%
= (2% x100)%
=13%
Therefore, the profit on the remaining amount of sugar is 13%.

Q33.

Answer :

CP of the land = Rs 96000

CP of two-fifih of the land =222 — Rs. 38400

SP of 2 of the land — =% . cp
— M4

= 1o X 38400

= Rs 36096

Loss = Rs (38400 - 36096) = Rs 2304

At a gain of 10%, we have:
SP of the land — > #2% . cp

100
=Rs 0 x 96000

= Rs 105600

Gain = Rs (105600 - 96000) = Rs 9600

Profit on the remaining land = Rs (9600 + 2304) = Rs 11904
CP of the remaining land = Rs (96000 - 38400) = Rs 57600

.. Gain percentage = (% * 100)%
= (% X 100)%
= 20.67%

Therefore, the profit on the remaining part of land is 20.67%.

Q34.

Answer :

SP of the watch for Alex= Rs 1330
Loss percentage for Alex = 5%

CP for Alex — —SEx10

100 -loss %
1330100
— 1M-5 >
133000
95

= Rs 1400

Mow, SP for Vinod = CP for Alex = Rs 1400
Gain percentage of the watch for Vinod = 12%

CP of the watch for Vinod=%
1400 100
=Rs T

=Rs 00 = Rs 1250

Thus, Vinod paid Rs 1250 for the watch.



Profit and Loss
Ex 10B

IMPORTANT FACTS

Cost Price:

The price, at which an article is purchased, is called its cost price, abbreviated as C.P.
Selling Price:

The price, at which an article is sold, is called its selling prices, abbreviated as S.P.
Profit or Gain:

If S.F. is greater than C.F, the seller is said to have a profit or gain.

Loss:

If 5.P is less than C.P, the seller is said to have incurred a loss.

IMPORTANT FORMULAE

1. Gain =(S.P) - (C.F)
2. Loss=(C.RP)-(5.F)
3. Loss or gain is always reckoned on C.P.

4. Gain Percentage: (Gain %)

Gain % = Gain x 100
cC.P
5. Loss Percentage: (Loss %)
Loss % Loss x 100
CP

6. Selling Price: (S.R)

gpo [(100+Gan%)
- 100 )

7. Selling Price: (S.P)

Sp = (100 - Loss %) SCp
- 100 o

8..Cost Price: (C.P)

cp=|—=>1% _ . 5p
© T | (100 + Gain%) T

9. Cost Price: (C.P)
ch= 0 Psp
T (100 - Loss )

10. If an article is sold at a gain of'say 35%. then S.F. = 135% of C.F.
11. If an article is sold at a loss of say, 35% then S.P. =65% of C.R.

12. When a person sells two similar items, one at a gain of say x%, and the other at a loss of x%, then the seller
always incurs a loss given by:
Common Loss and Gain %JE _ [x J2

o = -
Loss % { 10 10

13. If a trader professes to sell his goods at cost price, but uses false weights, then

Gain % = $ % 100 |%.
(True Value) - (Errar)

Q1.

Answer :

Marked price = Rs 4650 and discount = 18%
Discount = 18% of marked price
=18% of Rs 4650
=Rs (4650 ;o) =Rs 837
Selling price = marked price - discount
=Rs (4650 - 837)=Rs 3813

Therefore, the selling price of the cooler is Rs 3813,



Q2.

Answer :

Marked Price = Rs 960
Selling Price = Rs 816
Discount = MP - SP
=Rs (960 - 816)
=Rs 144
Rate of discount = 144)(%:15%

Therefore, the discount on the sweater is 15%.

Q3.

Answer :

Selling price = Rs 546

Discount = Rs 104

Marked Price = ?

Marked Price = selling price + discount
= Rs (546 + 104)
=Rs 650

Rate of discount =104 x 325
= 16%

Therefore, the rate of discount given on the shirt is 16%.

Q4.

Answer :

Selling Price = Rs 216.20
Rate of discount = 8%
Marked Price = ?
5P = MP - discount
Let the MP be

Answer :

Cost price = Rs 525
Rate of discount = 12%
Marked price = ?
SP= MP - discount
Let the MP be Rs z.
z—12
NOW, Txz 528
B&r
= 0 = 528
= 88z = 52800
52800

=T="g

=z = Rs 600

Therefore, the marked price of tea set is Rs 600.



Qé.

Answer :

Let Rs 100 be the CP.
Then, marked price = Rs 135
Discount = 20% of MP
=2 x135
=27
Selling price = marked price - discount
=135-27
=Rs 108
Now, gain = SP - CP
=108 - 100
=Rs5 8

-. Gain percentage = =i 100

CP
= o5 % 100
= 8%
Q7.
Answer :

Let Rs 100 be the CP.
Then, marked price = Rs 140
Discount = 30% of MP

_ 3
= 5g % 140
=42
Selling Price = marked price - discount
=140 - 42
=Rs 08
Mow, loss = CP - 5P
=100-98 vod
=Rs2
. _ Losex100
.. Loss percentage = op
__ 2x100
— i
=2%

Therefore, the shopkeeper had a loss of 2%.

Q8. .

Answer :

Cost price of the fan = Rs 1080

Gain percentage = 25%

. Selling price — {("’”+’T“m x CP}
= { %2 x 1080}

— 125
—ﬁxlﬂm

= Rs 1350

.,

Let the marked price be RS .
Discount = 25% of Rs x

Eh

SP = MP - discount
- 25X
=1350=X- 35

_ 100z 25z
= 1350 = —m

:>135000=?5z=>z=% = z = 1800

Therefore, the marked price of the fan is Rs 1800



Q9.

Answer :

Cost price of the refrigerator = Rs 11515
Gain percentage = 20%.

.. Selling pﬁm:{w x C.P}
- {% % 11515}

— 120
= m = 11515

= Rs 13818

Let the marked price be Rs z.

Discount = 16% of Rs x
— léz
100

S P =MP - Discount

= 13818 =x - 1&

1z — 16z
= 13818 = 1M

:>1381800=34:::-::=me = z = 16450

Therefore, the marked price of the refrigerator is Rs 16450.

Q10.

Answer:

The cost price of the ring is Rs 1190
Gain percentage = 20%.

.. Selling pﬂw:{w x C.P}
- {% ><1190}

— 120
—ﬁxllg(]

= Rs 1428

Let the marked price be .

Discount =16% of Rs x
16z

ST
SP = MP - Discount

— 16z
= 1428 =3 — 12

_ 100z —16x
= 1428 = 0]

= 142800 = 84z
o, ~
= r = 1700

Therefore, the marked price of the ring is Rs 1700.

Q11

Answer :

Let Rs 100 be the cost price.
Gain required = 17%

-~ Selling price = Rs 117

Let the marked price be Rs .

Then, discount = 10% of x

10
—ﬁXE

o
Selling Price = MP - discount

_ z
=1T=z—;

— 9=
= 9z = 1170
S
=z =130

= Marked price = Rs 130

Hence, the marked price is 30% above the cost price.



Q12.

Answer :

Let Rs 100 be the cost price.
Gain required = 8%
Therefore, the selling price is Rs 108
Let Rs z be the marked price.
Then, discount = 10% of ¥
— 2 e

=%
Selling Price = MP - discount
>1T=z—3

_ =
=>117—ﬁ
= 9z = 1080
-
=z =120

- Marked price = Rs 120

Hence, the marked price is 20% above the cost price.

Q18.

Answer :

Marked price of the TV = Rs 18500
First discount = 20%

Now, 20% of 18500
0
= Rs 3700

Price after the first discount = Rs (18500 - 3700)=
Second discount = 5% of 14800 4

4

5 2.
= o35 % 14800 T
= 740 3
Price after the second discount = {13800 - 740)
= Rs 14060"
The TV i§ available for Rs 14060. &(}

Ql4. RS e ’é}/
Answer : Weogs A\e

Let the marked price of the arficle b@@lo_
First discount = 20%

Price after the first discount = (100 - 20) = Rs 80
Second discount = 5% of 80

= 15 X 80

=Rs 4
Price after the second discount = (80 - 4)=Rs 76
Net selling price = Rs 76

-~ Single discount equivalent to the given successive discounts = (100 - 76)% = 24%



Profit and Loss
Ex 10C

Ql

Answer :

List price of the refrigerator = Rs 14650
Sales tax = 6% of Rs 14650

=Rs (14550 X 1%) =Rs 879

Bill amount = Rs (14650 + 879)
=Rs 15529
Hence, the cost of the refrigerator is Rs 15,529,

Q2.

0]

Cost of the tie = Rs. 250
Sales tax = 6% of Rs 250

:Rs.(250x %)

=Rs.15
Hence, bill amount = Rs (250 4 15)
= Rs. 265

(i) Cost of the medicines = Rs. 625
Sales tax = 4% of Rs. 625

= Rs. (625 x 1)

=Rs.25
Hence, bill amount = Rs (625 4 25)

= Rs 650

(iii) Cost of the cosmetics = Rs 430
Sales tax = 10% of Rs 430
s 10
= Rs (130 x 3
=Rs 43

Hence, bill amount = Rs (430 + 43)



= Rs. 473

(iv) Cost of clothes = Rs 1175
Sales tax = 8% of Rs 1175
= Rs (1175 x 13
=Rs 94
Hence, bill amount = Rs (1175 4 94)

= Rs. 1269
Therefore, total amount to be paid by Reena = bill amount of all the four items
= Rs (265 + 650 + 473 + 1269)

= Rs 2657

Q8.
Answer :
Let the 0rigina| priCe of the watch be Rs x.
VAT = 10% of Rs X
— 10
=Rs (m * ﬁ)
10z
—Rs 1=
~. Price including VAT = Rs (: 5 I_T])
— 11z

1z

Now, 22 — 1080

=z = (1980 x 2)
— 1800

Hence. the original price of the watch is Rs 1,800.

Q4.
Answer :
Let the original price of the shirt be Rs x.
VAT =T% of Rs ¥

— 7
=Rs. [z x ﬁ)
T
—Rs. =
- Price including VAT = Rs. (£ + %)

— 107=
=Rs. 37

Now, 222 < 1337.50

=z=Rs (1337.5'I}x %)
=Rs 1250

Hence, the original price of the shirt is Rs 1,250,

Q5.
Answer:
Let the price of 10 g of gold be Rs x.
VAT =1% of Rs =

=Rs [z = ﬁ)
= Rs %
~ Price including VAT = Rs. {z n ﬁ)
_ 101
=Rs TG
Now, % = 15756
=>z=Rs (1575ﬁx m
— Rs 15600

Hence, the price of 10 g of gold is Rs 15,600.

Q6.



Answer :

Let the original price of the computer be Rs x.
VAT = 4% of Rs.z

=Rs.(:nx

—Rs. 2=
=Rs. %

4
100

- Price including VAT=Rs. (z + %)
— 104z
. =Rs. To5
Now, 11T0 — 37960
ST= (3?950 x %)

= 36500

~ The original price of the computer is Rs 36,500

Q7.

Answer :

Let the original cost of the spare parts be Rs x.
VAT =12% of Rs.x

1z 12
=Rs.(xxm) =Rs.m
. . . 12x
» Price Including VAT =Rs.(x + =)
EEEX
" 100
112z _ _ 100 _
Now, 2 =20776 = x = (20776 x 1) = 18550
Hence, the original cost of the spare parts is Rs 18,550.

Q8.
Answer :
Let the list price of the TV set be Rs x.
VAT =28% of BRs.x

= Rs. (:I: X %ﬂ 0/

. Br

= Rs. T
. Price including VAT = Rs. ( + %)

_ 108z N\
=Rs. 57
108z

Now, 5 = 27000
=>:=(2?000x%)

= 25000

Hence, the list price of the TV set is Rs 25000.

Q9.

Answer :
Let the rate of VAT be x%._ Then, we have:

840 + z% of 840 = 882

::-(% deLD):BSQ—BrLD

~ The rate of VAT is 5%.

Q10.



Answer :

Let the rate of VAT be x%. Then, we have:

18500 + z% of 18500 = 19980

:;(% x185{l]):1993tl—135m
= 185z = 1480

_ 1480
=IT= T

=8

-~ The rate of VAT is 8%.

Q11

Answer :
Let the rate of VAT be x%. Then, we have:

34000 + 2% of 34000 = 382500
= (% x:unnm) — 382500 — 340000
= 3400z = 42500
:>z=%
=12.5

-~ The rate of VAT is 12.5%.




Profit and Loss RS

QL

Answer :

(c) 3319

SP =Rs 100

Cain = Rs (100 — 75)
—Rs 25

. Gain percentage = % x 100)%
= (?—22 X 100)%
=331%

Q2.

Answer :

(b)m—;%

CP —Rs 120

SP — Rs 105

Loss = Rs (120 — 105)
—Rs 15

. Loss percentage = (l% x ID{])
= (% x 100)

=121%

Q3.

Answer :

(h) 25%

CP = SP — Gain
= Rs (100 — 20)
= Rs 80

. Gain percentage = (% 4 100)%
(% x100)%
= 25%

Ex 10D



Q4.

Answer :

(d)Bs’m
SP = Rs 48
Loss = 20%

Now, CP= —%__ «sp

Q5.

Answer :

(c) 120%

Let the SP and CP of the article be Rs x and ), respectively.

Gain percentage = 10%
=10= ? x 100

R

According to the question, we have:

SP = Rs 2x
» Gain percentage = S5 x 100
M=
= — x 100
o
=2 x100
=120%
Qé.
Answer :
(d) 125%

Cost price of a banana = Rs -g
Selling price of a banana = Rs —g

Now, profit = Rs —;——g —Rs X2 _Rs &

. Gain percentage = %xlﬂﬂ




Answer :

(c) 20%

Let Rs = be the SP of each pen.
SP of 10 pens = CP of 12 pens = Rs 12z
CP of 10 pens = Rs 10z
Now, gain = Rs (12x — 10x)
=Rs 2z

-. Gain percentage = (% * IDO)%
= (% x 100)%
= 20%

Q8.
Answer :
(b) 25%

Let the SP of 100 pens be Rs z.
SP of 1pen=Rs &

Profit =Rs 22
—Rs 2
- 5
Now, CP =z — 3
__ 4z
=%
*. Gain percentage = % % 100
= 25%
Q9.
Answer :
(d) 150%

LCMof5and 2=(5x1x2)=10

Let 10 be the number of toffees bought.
CP of 5 toffees =Rs 1

CP of 1 toffee = Rs {%)
. CP of 10 toffees = Rs (g xm]

=Rs 2
SP of 2 toffees = Rs 1

SP of 1 toffee — Rs (_;)
. SP of 10 toffees = Rs (%XIO)

— Rs.5
Gain = Rs (5 — 2)
—Rs 3

Gain percentage = (%: X 100)%
= (5 < 100)%
= 150%

Q10.



Answer :

(d) 25%

L.C.M of 5 and 6 = (5 x 1 x 6) =30
Let 30 be the number of oranges bought.
CP of 5 oranges = Rs 10

CP of 1oranges = Rs (1—:)

=Rs 2
. CP of 30 oranges = Rs (2 x 30)
= Rs 60
SP of 6 oranges = Rs 15

SP of 1 oranges = Rs (%)

. SP of 30 oranges = Rs (% % 3[))
=Rs 75

Now, gain = Rs (75 — 60)
=Rs 15

.. Gain percentage = (%;: x 100)%
- (g x 100)%
= 25%
Q11.

Answer :

(a) 4%

SP of the radio = Rs 950
Loss = 5%

CP:{ 100 xSP}
(100 1oss)

=Rs {i xgso}
(100-5)

—Rs (E >(950)

95
= Rs 1000

Now, gain — Rs (1040 — 1000)

=Rs 40
-. Gain percentage — (% 3 100)%
- {% x 1m)%
=4%
Q12.
Answer :
(a) 20%

Let Rs z be the CP of each article.
SP of an article=Rs x
Now, gain = (SP — CP)
=Rs (gx—x)
=Rs X

. Gain percentage — (% *® 10'0)%

= (; x 100)%
= ((§ x %) X 100)%

=20%

Q1s.



Answer :

(b) Rs.1200

SP =Rs 720
Loss percentage = 25%

CP = {7““ x SP}
(100 1oss %)

=R5{ 100 xSP}
(100-25)

=Rs () x 720
— Rs 960
. Desired SP — {W x CP}

—Rs. {% x 961}}

= Rs. (%‘0 x gﬁu)

= Rs. 1200
Q14.
Answer :
(a) 5%
CP = Rs. 20z
SP = Rs. 21z
Gain = Rs. (21 — 20)
=Rs.x
. Gain percentage = (% x 100)%
— (% x100)%
= 5%
Q15.
Answer :

(a) 1.5% gain

SP of the first chair = Rs 500
Gain percentage — 20%

-, CP of the first chair — { — % »/gp
{100+ gain %)

Lo L]
= Rs. { {m;* he 500}

=Rsi( 13 x 500)
= Rs.416. 67

SP of the second chair = Rs. 500
Loss percentage = 12%

*. CP of the second chair = {i xSP}
(100 oss %)

_ 00
= Rs. { {m}] 3 X 500}

= Rs. (4 x 500)
— Rs.568.18

Total CP of the two chairs = Rs. (416. 67 + 568. 18)
= Rs.984,85

Total SP of the two chairs = Rs. (500 x 2)
= Rs.1000
Since SP > CP, there is a gain in the whole transaction.
Now, gain = Rs. (1000 — 984, 85)
= Rs.15.15

. Guain percentage = (% x 100)%

= (&L x 100)%

=1.5%

Q1lé.



Answer :

{b) Rs 530

Let the CP be Rs z.
Then, we have :
625 — £ = x — 435

= T4 z=6254435
= 2z = 1060

. z= Rs 530

Q17.

Answer:

(c) Rs 198

CP =Rs 150
Total CP = Rs (150 + 10% of 150)
—Rs (150+ (% x 150))

— Rs (150 + 15)
=Rs 165

-. Desired SP — {W x total CP}

—Rs. {% % 165}

—Rs. (% x 165)
— Rs.198

Q18.

Answer :

(@) Rs. 50

Let the CP be Rs z. Then, we have :
(105% of x) — (95% of x) =5

105 05 _
::-(ﬁxx)—(mxx)—5

W5 95x) _

=>(mu—ﬁ =5
(105x—95x)

= "m0
Wx

=}-ﬁ—5

x _
ZPE—ﬁ
=x =150
. CP=Rs 50

5

Q19.

Answer :

(b) 8%

Let the CP be Rs 100.
Then, marked price = Rs 120
Discount = 10% of MP

= (10% of Rs120)

10
= Rs. (120 x 557
—Rs.12

Now, SP = (MP) — (discount)
=Rs (120 — 12)
= Rs 108
Gain percentage = (108 — 100)%
=8%

Q20.



Answer :

{c) 1% loss

Let the CP be Rs 100.
Then, marked price = Rs 110
Discount = 10% of MP

= (10% of Rs.110)
_ ]
—Rs. (110 x 1170)
— Rs.11

Now, SP = (MP) — (discount)
— Rs (110 — 11)
= Rs99
. Loss percentage = (100 — 99)% = 1%

Q21.

Answer :

(¢) Rs.750

Let the basic price be z.
VAT =10% of Rs =
=Rs (xx %)
—Rs X
. Price including VAT = Rs (x+ 3
1
=Rs. 57

1lx __
Now, S5 =825
- = (szsx i—i’)

= ="T50

-~ The basic price of the watch is Rs 750



